
81. The average age of 50 student s in 10th std class is 15 years. 10 more students are admitted 
afresh in the class and the average age is increased by 0.5 years. The average age of the 
newly joined students is 

(A) 

(C) 

15 

17 

(B) 16 

?> 18 

10-1.b 6'1.l@)UY l.DIT~1T8;a;rra;ffil~ 50 aurl1~ 8'1JIT8'fil ~a;~QJ 15 ~@)Lb. 10 L.DITmTIT8;a;rra;ffi y~~ITffi 

aa:rr8;a;uULL t51~ 8'1JIT8'rl1 ~a;~QJ 0.5 ~~@ ~~a;rl)~~~· y~~ITffi aa:rr8;a;u ULL l.DIT~1T8;a;rra;ffil~ 

8'1JIT8'fil ~a;~QJ 

(A) 

(C) 

15 

17 

(B) 16 

(D) 18 

82. What percentage of students does not like computer science? 

(A) 91% 

~ 82% 

(A) 91% 

(C) 82% 

x 

Subject No. of students 

Mathematics 6 

Physics 12 

Chemistry 15 

Biology 8 

Computer Science 9 

UITLl.b 

a;~~i.b 

@tLI!f>t5ltLJro 

a6'1.J~uS1UJru 

~uS1rT1tLJru 

a;~~uS1UJ6U 

(B) 9% 

(D) 18% 

l.D ITQll!f QJ fr a;ffil~ 6T6!iM~8;~a; 

23 

6 

. 12 

15 

8 

9 

(B) 9% 

(D) 18% 
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83. If the simple interest for an amount at 4% per annum for 3 years is Rs. 1,200. Find the 

compound interest at the same rate for the same amount for 2 years. 

84. 

(A) Rs. 10, 116 

(C) Rs. 10,616 

(B) Rs. 10, 720 

jl1) Rs. 816 

~® ®!D1ut51L.L Q~rrms;8;® 3 6UQ9L~%lru 4% 6UL.Lq. 6))~~%Jro ®· 1,200 ~~6UL.Lq. $lmL8;.$l!D§l· ~a~ 

Q~rrQ>s;8;® ~a~ 6ULLq. 6))~~%lru 2 6Ll(!9L~%lru .$l~L8;@jt.b ~L.@ 6LJLLq. UJIT~? 

(A) ®· 10, 116 

(C) ®· 10,616 

Which of the following is/are true? 

(i) ax=bx ~ a=b 

(ii) 
x x 
-=- ~ a=b 
a b 

(iii) a= b ~ax= bx 

(iv) a +x= b+x ~a=b 

(A) (i), (ii), (iii) and (iv) 

(C) (i) and (iv) only 

(i) ax=bx ~ a=b 

(ii) 
x x 
-=- ~ a=b 
a b 

(iii) a:c:b ~ax= bx 

(iv) a +x=b+x ~a=b 

(A) (i), (ii), (iii) LDJDIDJt.b (iv) 

(C) (i) LDJD!J)lt.b (iv) L.Dl...@Lb 

(B) ®· 10, 720 . 

(D) ®· 816 

. (B) (i), (iii) and (iv) only 

~ (iii) and (iv) only 

(B) (i), (iii) LDJDU)lt.b (iv) l.Dl...@t.b 

(D) (iii) LD.[b!J)lt.b (iv) L.Dl...@Lb 
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85. Two dice are thrown simultaneously. The probability of getting a doublet is 

(A) 

J6) 

1 

36 

1 
6 

(B) 

(D) 

1 

3 

2 

3 

~a'l G,(D'l~~Gi.> @® ua;~L.sGiT ~®L.Luu@i£l~!DEim- u.s~LuS1~ @'l6!iGT@ QP.sffil.sffil~i.b ~a'l G"r6!iGT~rra; 

@®.s.si£i.sw~<$~. 

(A) 

(C) 

1 

36 

1 

6 

86. The mean of the first n natural numbers 

(A) 
n (n+l) 

2 

n-t-l 
2 

QP~ru 'n' @lLlru G"r6!iGT.s~~ 8'1J"rT8'rfl 

(A) 

(C) 

n (n+l) 
2 

n+l 
2 

(B) 

(D) 

(B) 

(D) 

(B) 

1 

3 

2 

3 

n(n+l) (2n+l) 
2 

n(n+l) (2n+l) 
2 

(D) n2 

87. In a set of first ';x' natural numbers there 30 prime number. Find the number of composite 
numbers in the above set. 

(A) 

(C) 

x-30 

x-29 

(B) 

~ 

30-x 

x-31 • 

QP~Q) 'X' @lLlru G"r6!iGT.SQ>6TT.$ Qa;rr6!iGTL .S~~~Q) 30 U.Srr G"r6liGra;GiT ~Qr6TT6m. aLDJD.S6!iGTL 6i61m"~~Q) ~6iT6TT 

LI@) G'r~6iffil~ G"r6!iGT~.$6!>6i~lLJ8; e;rr6!iGT. 

(A) x-30 

(C) ~-29 

25 

(B) 30-x 

(D) x-31 
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88. If '+' ' , ' ' '+', 'x, '+' and '+' ' , then the value of means x, - means means means 

84 x28+8..;.-10- 9 = 

fa> 23 (B) 22 

(C) 30 ; (D) 26 

'+' 6TGbl!DIT6i.> 'x" '-' 6TGbl!DIT6i.> '+', ' x , 6r~!DIT6i.> '+, LD!f>!J)JLi::i '+' 6r~JDrrru '-' 6r6Ullru 84 x 28 + 8 ..;.-10-9 ~ 

L.D~uy 

(A) 23 

(C) 30 

(B) 22 

(D) 26 

89. Consider the following statements. 

I. The sun is a medium sized star 

II. It is about two billion years old 

III. It consist of almost entirely of hydrogen and helium 

Which of the statements given above is/are correct? 

(A) I only 

(B) I and II 

)Rf) I and III 

(D) I, II and III 

l. ~rf1UJ~ p;@~~fl ~GlTQj Ql!;ITQNL J!>LB'~~flW 

IL ~!Dd;®~JDUJ @'lQN@ ~ru@JUJ6bl ~QN@a;m GtlUJ~ Ql!;rrQNL~ 

III. ~rflUJ6Uflru ~~..:...fl~~ LD!f>!J)JLi::i ~@lUJLi::i GtJrr1.48;l!;m Gu@LDmGlSlru l!;rr~uu@.il6b"T!D@ 

al.DaQ) Ql!;rr@.$a;uuL..@ffim GtJrr.$.$\UJri.Ja;~Q.i a:rflUJrr@ GtJrrd;.ilUJt.i:i I GtJrrd;.ilUJri.Ja;m UJIT~Gtl? 

(A) I L.DL..@t.i:i 

(B) I LDWgl!LD II 

(C) I LD!f>gllt.i:i III 

(D) I, II LD!f>!J)Jt.i:i III 

GT714 26 



( 

90. Consider the following statements. 

I. Forests grow lush in areas where there are conditions such as high temperature, low 
rainfall and fertile soils. 

II. Forests grow lus!i in areas where there are conditions such as high temperature and 
heavy rainfall throughout the year and fertile soils. 

Which of the statements given above is/are correct? 

(A) I only 

JR) II only 

(C) I and II only 

(D) I and II are wrong 

Q .$IT @$,g;u u L@ mm 61.J IT .$$1 lLI rfu .$6r) Qi 8)61.J 60fl . 

I. ~IT6UIJ" rumr'r65l.$@5 ~)'blTIJ"LDIT.$ ~brlLDumru ~~,g; Qruuul.O, @56rl!Dfb~ LDmwu Gu1T~QJ. lf~)'blT6m 

lD 6liM ~$1 lLI 6rl 61.J lLI IT@) tD. 

IL ~IT6UIJ" rumr'r65l.$@5 ~~ITIJ"LDIT.$ ~mt.Oumru ~~,g; Gruuut.b. ~~.$ LD~wu Gu1T~QJ 6~~1T~ LD6lim" 

~$1 lLI ~61.J lLI IT@)LD. 

~LD~ru Q,g;1T@8>,g;uuL..L G61TJDG!JJ1TLrTlGi.J 6rTllLIIT6m 6lSl~LmUJ ~~r'r)bQ~@. 

(A) I LDL@t.b 

(B) II LDL@t.b 

(C) I. II LDL@t.b 

(D) I LD Ji> i;ot ill II )'b61.l roi 

91. In Tamilnadu MRTS is seen in 

x 

(A) Trichy 

(B) Salem 

vff) Chennai 

(D) Thanjavur 

(A) ~(!9651 

(B) ~lfQ)tD 

(C) G6~~6m 

(D) ~~61TfilrT 
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92. In Tamil Nadu Sanctuary for Peacock is located at 

93. 

(A) Madurai 

Jf1> Viralimalai 

(A) LD@Q">IJ" 

(C) @5lrrrrro1L.OmQ> 

Match the correct answers : 

(a) Haemophilia, Albinism, Thalasimia 

(b) Diabetis, Sterility, Obesity 

(c) Nictolopia, Rickets, Scl,lrvy 

(d) Malaria, Filaria, Influenza 

(a) (b) (c) (d) 

(A) 4 3 1 2 

(B) 3 2 4 1 

~ 4 3 2 1 

(D) 1 2 3 4 

s:nltLirrw @S)Q">Le;mm Gurr@~@e;· 

(B) Puthukottai 

(D) Tanjore 

(B) ~~J;Ge;m.~mL 

(D) ~<§s:rr~rr 

1. Vector borne diseases 

2. Deficiency of nutrients 

3. Deficiency of Hormones 

4. Genetic disorder 

(a) ~GL.Orrt5lro1tLirr, .d91rut.51~s:Lb, ~Qlrr6L.6ltLirr 1. e;L~~e;Qi- (y)QlLD UIJ"6l.J~ GJ!)rrli.Je;Qi­

fli!ILL.9=~§1 (§Q">jDU rTLllf.WrTru 

~n:i>u@Lb Gjorrli.Je;Qi-

(b) s:rrd;e;Q">~J!)rTlU, L.OQ>L@~~6irrmLD, ~LW Li@L.06irr 2. 

(a) (b) (c) (d) 

(A) 4 3 1 2 

(B) 3 2 4 1 

(C) 4 3 2 1 

(D) 1 2 3 4 

~rrrrGL.Orr6irr ®m!D@Slwrrru 

GJ!Du@Lb GJ!)rrli.Je;Qi-

L.OIJ"t.SltLiru ®m!DurrL...tit-wrrru 

GJ!Du@Lb GJ!)rrli.Je;Qi-
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94. Example of Rodenticides 

(A) DAP (B) Zinc phosphate 

(C) Arsenic JPf (B) and (C) 

(A) DAP 

(D) (B) LDJDWJLD (C) 

95. Egg beaters and drilling machines have long handles because 

x 

I. It is easy to use 

II. A larger force applied at the handle results in large turning effect 

III. A smaller force applied at the handle results in large turning effect 

(A) I is correct 

(B) III is correct 

JR!) Both.I and III is correct 

(D) II is correct 

(A) I e:iflUJrrQT§J 

. (C) I LDJD!J)JLD III a=ifl 
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96. Refractive index of a diamond is 2.42. Its meaning with respect to velocity of light is 

I. 

II. 

III. 

IV, 

(A) 

~ 

Velocity of light in diamond is more than the velocity of light in air 

Velocity of light in diamond is less than the velocity of light in air 

Velocity of light in diamond and air is one and the sarrie 

Velocity of light in air is more than the velocity of light in diamond 

I and IV is correct 

II and IV is correct 

(B) III alone is correct 

(D) I alone is correct 

6'6>6l.llJ~~~ ~GTfl@Slru8'.6i.> 0~ 2.42 ~GTfluSl~ ~6'6>a:C6l.la;~6'6>~u Gurr®~~ .@8:Ga:rr£DG!Drrur1~ Gurr@Gir 

UJrr~? 

I. ~GTflUJrr~~ a;rr£06'6>!D @SlL, 6'6>6l.llJ~~6i.> ~~a; ~6'6>a:C6l.la;~~6i.> Ga:6i.>$1!D~ 

II. ~GTflUJrr~~ a;rr£06'6>!D@SlL, 6'6>6l.l1J~%J6i.> ®6'6>!DJ1f15 %J6'6>a:C6l.la;~%J6i.> _Qa:ruc£1!D~ 

III. a;rr£Dw LDW!J)Jt..D 6'6>6l.llJLD .@1J~t.q..@1Jt..D ~GTfluSl~ ~~a:C6l.la;i..O a:LDL.0 

IV. ~ffilUJrr6m'~ ~6l.llJ~~~ @SlL a;rr£D.[6lru ~~a; ~6'6>a:C6l.la;~~L~ Ga:6i.>c£l!D~ 

(A) I LDL.(blt..D IV a:ill (B) III Lbl...(blt..D a:ifl 

(C) II LDL.(blt..D IV a:ifl (D) I LDL.(bli..O a:ill 

97. With reference to the meanmg of index number m statistics consider the followi.ng 
statements 

I. An index number is a statistical tool used to measure changes over time and to 
interpret economic figures 

II. Index numbers are values expressed as a percentage of single base figures. 

Which of the statements given above is /are correct? 

(A) I statement only (B) II statement only 

...:J? Both I and II statements (D) Neither I nor II statement 

yGirGTfluSlUJrol6i.>, ®£6luSL.Guma;GTfl6bl Gurr@Gir@Slmd;®t..0 .@® &1.£b!J)Ja;~m uill8ru~~ Ga:IJJa;. 

I. ®£6luSL.QL~e;Gir 06blu~ a;rrrurila;®8;c£16'6>LCUJ 6J!Du@t..D LDrr£b1Drile;6'6>m ~GTT@SlLGljLD Gurr@ffilUJ6i.> 

@Sl6l.Jl)rila;~8;® @Slmd;a;t..0 ~GTf)8;a;~i..O UUJ~u(blt..D a;®@SlUJrr®i..O 

II. ®£6ltnL.GL~a;6lr, LD~u~~~ s:~6'5~~~ru ®£6lLi~@i..O ~® ~W~!D @Sl$1~CLD ~®t..0 

CLDCru ®!61Li~L.@Girm &1.£b!J)Ja;rol6i.> 0~ a:ill 0~ ®!61Li~(bla;. 

(A) • I &l.W!PJ LDL@LD (B) II &l.W!J)J LDL@LD 

(C) I LD!D!J)Jt..D II 6l.J~ 861.W!J)Je;Gir (D) I -t..D ~ruru II-t..D ~ruru (861.£DQJle;Gir) 
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98. Inflation denotes the following situation : 

v4 price level rises - money value falls 

(B) price level rises - money value rises 

(C) price level falls - money value falls 

(D) price level falls - money value rises 

(B) 6El6mru6tJrr61 2...tuir6l.Jl.O - uGWTp:;~m LO~uy 2-tuirGl.Ji.O 

(C) 6ElGJ>ru6tJrr61 ffi~8=6lll..Ji.O - uGWT~~m LD~uy ffi~8=6lll..Ji.O 

99. Consider the following statements and identify which one is not correct? 

Inflation can be checked by some of the following measures :- Select the incorrect measure :-

(A) increased taxation 

~ increasing government expenditure 

(C) restrictions on imports 

(D) rationing 

(A) 6tJtfl GEl~uGJ>u ~~a;uu@~~~ru 

(B) ~g6lm Q6Q)Gi516Ulp:;6m~ ~~a;filp:;~ru 

(C) @!l>.$@>LO~uS1ru a;L.@uurr@a;GTI- GEl~~~ru 

(D) Gurr~u uffil£@ 
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100. "The queen of drugs" refers to 

~ penicillin 

(B) streptoI11ycin 

(C) aureoI11ycitin 

(D) chloroI11ycitin 

(C) ~rllalLirr~LD51~~ 

(D) ®aGTTfTGl)rTG15>LD51~~ 

101. Arrange the stages of respiration in a logic way. 

I. Electron transport chain 

II. Glycolysis 

III. Kreb's cycle 

IV. Oxidative decarboxylation of pyruvic acid 

(A) I, II, III, IV 

(C) I, II, IV, III 

(A) I, II, III, IV 

(C) I, II, IV, III 

GT714 

JB) II, IV, III, I 
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(D) III, IV, II, I 

(B) II, IV, III, I 

(D) III, IV, II, I 



102. In which country 5th BRICS summit was held? 

(A) 

(B) 

(C) 

r1 

Russia 

Brazil 

India 

South Africa 

56l..l~ BRICS ~66lu:irrJ!irr@ ~JBp; J!i1TL.11j-ro J!i~LGu!f>w~? 

(A) fl~turr 

(B) tSJa,,6lro 

(C) @fe~UJrr 

103. Name the 27th State of Indian Union 

(A) Jharkhand 

. (C) Chhattisgarh 

@Ji;~tu l!:h~UJ~m 27..,fJ u:irr,IBlQ)~~m Gutur'r 

(A) ~rrirB;s;~L. 

104. The untraceable Malaysian Aeroplane is 

(A) MH 370 

(C) MF 700 

~ Uttarakhand 

(D) Telangana 

(B) MA 730 

(D) MJ 703 

vA} MH 370 (B) MA 730 

(C) MF 700 (D) MJ 703 
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105. Which article of the Indian constitution deals with Right to Education? 

(A) Art. 20 (A) 

~) Art. 21 (A) 

(C) Art. 19 (A) 

(D) Art. 22 (A) 

@)ii~UJ ~!)61UJQ.)Q)LDUL.j d'LL~~ru ~ITTffi GT)ii~ ~!)61UJQ.)Q>lDUL.j d'LLLD ~iltUUQ>L s;ru6'l51 r2....ITlQ>LDQ>UJ 

6lS16l.J IT ~8;$)~!D~? 

(A) Art. 20 (A) 

(B) Art. 21 (A) 

(C) Art. 19 (A) 

(D) Art. 22 (A) 

106. World's most powerful telescope ALMA becomes operational on March 2013 in 

(A) China 

JR) Chile 

(C) New York 

(D) London 

(A) Q>6QTIT 

(B) 61~ 

(C) )£1 iy, UJ rrir 8; 

(D) Q.)QRsrL~ 

107. How many languages are there in Eighth Schedule of Indian Constitution? 

(A) 18 

$> 22 

(A) 18 

(C) 22 
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108. Who is known as "Desert Fox"? 

~ Erwin Rommel 

(B) Bhagat Singh 

(C) Adolf Hitler 

(D) Benito Mussolini 

(C) ~Lrrruu ~LQ)rT 

109. The first political philosopher who separated and differentiated civil society from state 

~ G.W.F. Hegel 

(B) l{arlMarx 

(C) Fredrick Engels 

(D) Antonio Gramsci 

(A) G.W.F. ~e;ru 

(B) .SITl}"ru LDITrT8i6iu 
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110. Money Bills can be delayed by the Rajya Sabha only for 

(A) 30 days 

(C) 20 days 

(A) 30 J!irn.:_B;6lr 

(C) 20 J!irrl...B;6lr 

111. Usually the population of Corporation is 

(A) 5 lakhs 

(C) 8 lakhs 

(A) 5 Q>Ls:L.i:i 

(C) 8 rul...8'L.i:i 

(B) 15 days 

JP' 14 days 

(B) 15 J!irrl...B;6lr 

(D) 14 )!irTLB;GTr 

(B) 7 lakhs 

~ lOlakhs 

(B) 7 rul...B'L.i:i 

(D) 10 Q)LB'L.i:i 

112. The Election Commissioners are appointed by the 

(A) Prime Minister 

(B) Governor 

..¢) President of India 

(D) Council of Ministers 

(A) t511J"~LD ~~LD8:8'rr . 
(B) ~~J!iil 

(C) @Ji;~huB; ®~UJIJ"Bi~ ~Q)Q)Qlrr 
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113. Consider the following : 

Assertion (A) : After the Independence in 1947, the most immediate and important task 

before the Indian leaders are two in number. 

Reason (R) : One is the removal of poverty, secondly progress of education among the 

masses. 

Now select your answer according to the coding scheme given below : 

(A) Both (A) and (R) are true and (R) is the correct explanation of (A) 

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A) 

Jf4 (A) is true, but (R) is false 

(D) (A) is false, but (R) is true 

Bdl.fDIJ)J (A) 

. ~6l.la=1Ju LI~a;ffi @IJ"~@. 

a;rrl}"EWn.O (R) · : ~~IJ)J 6l.llJ)JmLDmUJ ~wiuu~. @'l~@ a;ru661mUJu LIIJ'UL!Gl.J~. 

(A) (A) LDfDIJ)Jtb (R) @IJ'~@t.O s~. ~LO~t.0 (R) ~~LI~ (A)-661!!>® e:rrlUJrrQT 661m.$a;LOrr®t.0 

(B) (A) LDfDIJ)Jt.O (R) @IJ'~@t.O srrl, ~LO~t.0 (R) ~~LI~ (A)- 661!!>® e:rrlUJrrQT 661ro8;a;LOruru 

(C) (A) srrl, ~QrrrQ) (R) ~Gl.J!l)I 

(D) (A) p;6U!l)I. ~QrrrQ) (R) 6rr1 

114. Which period is called the era of Gandhiji? 

(A) 1885-1905 

JRf)' 1920-1947 

(A) 1885-1905 

(C) 1920-1947 

37 

(B) 1905-1918 

(D) 1935-1947 

(B) 1905-1918 

(D) 1935-1947 
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115. Consider the following: 

Assertion (A) In the first half of the 19th century revolutionary groups sprang up mainly in 

Bengal, Maharastra, Punjab and Madras. 

. 
Reason (R) : The revolutionaries were not satisfied with the methods of both the 

moderates and extremists. 

Now select your answer according to the coding scheme given below : 

v(A) Both (A) and (R) are true and (R) is the correct explanation of (A) 

(B) Both (A) and (R) are true, but (R) is not correct explanation of (A) 

(C) (A) is true; but (R) is false 

(D) (A) is false; but (R) is true 

ffifflJ"~t.0 (R) 

(C) (A) <!fill , ~Giirrrro (R) ~6UIDJ 

(D) (A) ~6UIDJ. ~Gmrrro (R) 6IT1 
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116. Consider the following statements: 

x. 

Assertion (A) : In August 1942 the Indian National Congress adopted the Quit India 

Resolution. 

Reason (R) : The Cripps Mission proposals held promises for the future with no 

immediate concessions. 

Now select your answer according to the coding scheme given below : 

(A) Both (A) and (R) are true but (R) is not the correct explanation of (A) 

~ Both (A) and (R) are true, and (R) is the correct explanation of (A) 

(C) (A) is true, (R) is false 

(D) (A) is false, (R) is true 

(C) (A) .g:rfl ~mrrru (R) ~GUW 

(D) (A) ~GUW ~mrrru (R) .g:rfl 
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117. Arrange the following statements in chronological order :. 

I. The first round table conference was held in London. 

II. The non Co-operation movement was abruptly called off by Gandhiji, following the 
Chauri Chaura Incident. 

III. The resignation of Congress Ministry was celebrated as Delivetance Day by Muslim 
League. 

IV. The Cabinet Mission put forward a plan for solution of the Constitutional Problem. 

(A) I, II, IV, III ~ II, I, III, IV 

(C) III, I, II, IV (D) IV, III, I, II 

£w~.s~L 6l.Jrr8;8ilUJffiJ.S6rl61T .SITQ) 6l.lrTl6rlc!fUU@~~ : 

I. CP~Q) 6l.JLL GLD6rlc!f L.Orr!Drr® ru~L~Gi> ,f!i6rlLGu!DJD~-

II. ~~~6r)wUJrrQ'lL.O @UJ8;.s~6!>~ Ge:ITTrTlGe:ITTIJrr .!£'.swa=.iflQ)UJ G~rrLr'rJt~ .srrjt~UJi.q..sGi'r @6!>Lu5l~ru~UJ 

.llilwP>~ Q)6l.JP>~rrr'r . 

III. .srrr6J8i11J8f ~6rlL.06c!f1J6rl6l.l$GTr u~GlSl 6lS16U.S6rlQ), Qj)QuGULD ro8; GlSl@~Q'lQ) $DIT61TIT8;8; G.srr~LrTLq.UJ~ . 

IV. .srrt5l~L. ~~ @)@ @jt~UJrrGlSl~ ~1J6lUJ6UQ'lL.Ouy 618;.s~B;@) ~® ~rrQ'l6l.J @m m6l.JP>~~ -

(A) I, II, IV, III 

(C) III, I, II, IV 

118. Consider the following statement : 

(B) II, I, III, IV 

(D) IV, III, I, II 

I. As per Queen's Proclamation, Lord Canning announced the new Government at 
"Jahanabadh" in 1858. 

II. The Queen's Proclamation called the "Magna Carta" of Indian people. 

Which statement is/are correct? 

(A) I only A IIonly 

(C) Both I and II (D) Neither I nor II 

£~.s~L 6l.JrT8;8ilUJffiJ.S6rl61T $6'1.J~ : 

I. au1J1Jiflu5lm ~!J518;6r)B;a')lU 1858 "~~rr~rrurr~" 6TmWJu5lL~~Q) .srr~r6.i t5l1Jy Y~lU 

~IJc!frTrliJ.s~6rl~ @m!!)UULq. ~!J516!Sl~~rrrr. 

II. ~U1J1Jiflu5lm ~!J516i6r>.s@Jt~lU LD6i.s61flm "al.06i~rr .srrrrL.Lrt'' 6Tm!J)J ~6rlw4;.suu@8il!D~· 

@6l.l!i>!J516i> 6T~/6Tm6l.J e:rll? 

(A) I LDL.@i..O (B) II LDL.@i..D 

(C) I LD!i>!J)JLD II (D) Ii..D @6i>6rlro Ili..D @Gi>Q'lro 
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119. Match List I with match List II correctly and select Ans. 

List I List II 

(a) Indian National Congress 1. Moderates 

(b) Dadabhai Naoroji 2. Indian Burke 

(c) Madan Mohan Malaviya 3. Allan Octavian Hume 

(d) Surendranath Banerjee 4. Grand old man 

(a) (b) (c) (d) 

(A) 3 2 4 1 

(B) 1 2 3 4 

(C) 3 4 1 2 

(D) 1 3 4 2 

UL.lq.tubl> I ul..iq.turu II 

(a) @.ffi~UJ C~filtu e;rrffil$11JGiu 1. uSl p:i6l.J rT ~ 

(b) ~rr~rrurrli.J GJD61TCl)rr~ 2. . @.ffi~UJrr6'61~ urr8; 

(c) LO~~ CLDrre;~ LOrrffi"6'61UJrr 3. . ~rum ~.SCL6'6ltum ~i.0 

(d) BTGIJfe~IJ,!DrT~ UrT~rT~ 4. QP~Gu@L.b L06lfil~rr 

(a) (b) (c) (d) 

(A) 3 2 4 1 

(B) 1 2 3 4 

~3 4 1 2 

(D) 1 3 4 2 
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120. Consider the following : 

Assertion (A) The Revolt of 1857 ended an era and sowed the seeds of a new one. 

Reason (R) Strengthen the British paramountcy. 

Now select your answer according to the coding scheme given below : 

(A) Both (A) and (R) are true and (R) is the correct explanation of (A) 

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A) 

/ (A) is true, but (R) is false 

(D) (A) is false, but (R) is true 

@,IB~lLI 6l.11}"6Urr(i>1!51ru 1857 ~Lb~~@ <'»6U<'»LD ~® a:e;m.Jp;i.O QP~.ffi~ tnJi>Gwrr~l1)! 

Gp;rrLri.J.$11UQ>p;8; ®!!51ui.5l@.$l!D~· 

e;rrll~LD (R) 

(C) (A) a:ifl. ~mrrru (R) p;Gl.l!J)l 

(D) (A) ~Gl.l[!)J. ~6Wlrrru (R) a:ifl 
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121. Which one of the following is correctly matched? 

I. Indian Association Nethaji 

II. Drain Theory Dadhabai Naoroji 

III. Servants of Indian Society Mahatma Gandhi 

IV. Abhinava Bharat Feroze Shah Mehta 

(A) I ~II 
(C) III (D) IV 

I. .@.[>~hu 6riile;Lb ~J!i~rT~ 

II. Q.%\)QJ 6ilJ'~TLru ~e;m.:_urr@ ~rr~rrurrti.J Qp;GfTGIJ'rr~ 

III. .@.[>:tJUJ umf!UJrr61Tri' 6riile;Lb l1>e;rr~l1>rr e;rr.[>~ 

IV. ~t5}}DQJ UrTIJ'~ t5l~l}'rrGiu ~rr Gl1>~~rr 

(A) I (B) II 

(C) III (D) IV 

122. Choose the best answer : 

During the Great revolt of 1857 the Governor General of India was 

(A) Lord Lytton 

(B) Lord Ripon 

~ Lord Canning 

(D) Lord Wellesley 

6rflUJrrm 6lSlQ'>LQ'lUJ~ G~ri',(f>Q~@ : 

1857 Gu@Lb LJIJ'L61u5l~ Gurr~ .@.ffi:tJUJrr6lSl~ e;QJrT6GfrT Q~6GffJ'Q)rre; .@®fr>~QJrT 

(A) 6151L-L~ t5ll}'y 

(B) rfluu~ t5lfJ'LJ 

(C) e;rr~riil t5llJ'LJ 

(D) QQJQ>QroGiu61Sl t5llJ'y 
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123. 'The Hindus and the Muslims are two eyes of the beautiful bird that was India'. Whose 

comment it was? 

(A) Jothi Bapule 

tJ.81 Sir Syed Ahmad Khan 

(C) Nawab Salimullah 

(D) Muhamad Ali Jinna 

124. Which one of the following pair is correctly matched? 

Dynasties Rulers 

(A) Chera Karikala 

(B) Chola Simuka 

fi Pandya Nedunchezhian 

(D) Satavahana Senguttuvan 

• 

GLIIJIJ8' ~L.Jl UJITGTIT s;m 

(A) GB=l/r'r s;ITl a; rr 6U6irr 

(B) G8'rrwrr 5l@$IT 

(C) u rr6Wn.q..UJ r'r G10@~Q8'~11.J6irr 

(D) a:rr 1hlOl.J rr s;~r'r Ga:r6J®L..@101.J~ 
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125. Match List I with List II and select the correct answer using the codes given below the lists: 

List I 

(a) Tamil Nadu Revenue Recovery Act 

(b) Tamil Nadu Larid Encroachment· Act 

(c) Registration of Birth and Death Act 

(d) Tamil Nadu Birth and Death Registration Rule 

(a) \b) (c) . (d) 

(A) 3 1 ~ 4 

~ 4 2 1 3 

(C) 4 1 3 2 

(D) 1 2 3 4 

61516'6lL6'6lUJ~ Q~rT16l..j GCFuJ.$. 

ULtq-UJGi>l 

(a) ~u51WJDrT(b'\ 6'l..JQ!)6'l..JrTuJ 6'l..J@;Gi> CFLLtD 

(b) ~uSlwJDrrCbl ~ffi1JL0~8: CFLLli> 

(c) ~!Duya;6lr (LO) .@!Duya;m u%16l..l CFLLW 
~ 

(d) ~uSlwJDrr(b'\ ~!DULj6.>Glr (LO) .@!DULJ.$Glr u%16l..l @S)~a;oo 

(a) (b) (c) (d) 

(A) 3 1 2 4 

- (B) 4 2 1 3 

(C) 4 1 3 2 

(D) 1 2 3 4 

'X 45 

List II 

1. 1969 

2. 1905 

3. 2000 

4. 1864 

ULtq-UJGi> II 

1. 1969 

2. 1905 

3. 2000 

4 . 1864 
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126. Marriage Assistance to the male members provided by which scheme? 

(A) Gold for Tali 

~) Chief Minister Uzhavar Padhukappu Thittam 

(C) Priceless dhoti and saree scheme 

(D) Pudhu Vazhvu Thittam 

~~8.i(5ffi8.ifT6m fhl@LD6imf ~~@51 fhJLLLD ~~~ fhll...L~fhJ6&f$~6l.J~rfu8.iUU@.il!!)@7 

(A) ~rrQ)l.9;@5 ~ri.J8.it.O 

(B) @fD6UroLD8:8'ITl6&1' ~~Gl.Jrr UfT§J8.ifTULJ ~l...Lt.0 

(C) @S1~ru~60rurr G6l.ll...tq., G~ru 6l.J~ri.J@5t.O fhll...Lt.0 

(D) Lj~ Gl.JfT~Qj fhJLLtD 

127. T)\e Government of India enacted the Disaster Management Act in -----year. 

~A5 2005 (B) 2004 

(C) 2006 

(A) 2005 

(C) 2006 

(D) 2009 

. (B) 2004 

(D) 2009 

128. Who is the District Registrar of Birth and Death? 

(A) District Collector 

tJ(B) District Revenue Officer 

(C) District Supply Officer 

(D) District Social Welfare Officer 

LDfTGl.JLL ~m61516\J ~!DULJ LDJDIDJU:i .@!DLILJB.i~m u~Qj Q8'u'..Jti..jU:i ~@)16l.J6UrT UJrrrr? 

(A) LDfTGl.JLL ~l...fillLirr 

(B) LD rr6l.J L..L 6l.J ®Gl.J rru:..i ~ w 6l.J run-

( C) LDfTGl.JLL 6l.J~ri.J8.i60 ~@)J6l.Jrurr 

(D) LDfTGl.JLL 8'~8.i J.560 ~@)JQJ6UrT 
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129. How many acres is one Hectare? 

(A) 3.50 acre 

JBJ1 2.47 acre 

(C) 3.27 acre 

(D) 2.57 acre 

(A) 3. 50 ~8;a;ir 

(B) 2.4 7 ~8;a;ir 

(C) 3.27 ~8;a;ir 

(D) 2.57 ~8;a;ir 

130. In which year Direct Recruitment to the Village Administrative Officer post was come under 

the purview of Tamilnadu Public Service Commission? 

(A) 1977 v6i) 1980 

(C) 1981 (D) 1983 

6T~~ ~~® C!J)IJliJ- J@UJLDro .$l1JrrLD Ifilrr6Urra; ~~6l.JQ)rra;rrffi C~ir~. ~uSlwp>rr@ ~IJar u~U.JrrGTTrr 

C~ir6l.J rr~UJ t.b 6l.JQ'll)"UJ6G> JD.$@)Q-r Q a;rr~® 6l.J IJU u LL§!? 

(A) 1977 

(C) 1981 

(B) 1980 

(D) 1983 

• 131. One hectare is equal to 

~ 10,000 square metres 

(C) 2 acres 

~® Q~B>CLir 6T~u~ -----S:LDLDfTffi§J. 

(A) 10,000 S:~IJ LDLLfr 

(C) 2 ~B>s;ir 

47 

(B) 10 ares 

(D) 100 cents 

(B) 10 ~irffi> 

(D) lOOQ~L. 
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132. Among the irrigation sources, water available from 5 to 8 months comes under which one of 
the following category? 

(A) First c]ass 

(B) Fourth class 

(C) Fifth class 

_JP11 Third class 

5 @~ru 8 L.Orr~rfil.g;~B;@i JbrT Qu!!)8iBnll:j-l1J urra:EM ~~rrl}"rfil.sro £w.sGWrLQJWg)lffi 6Tfb~ QJ@jLJL5l601 £w 
QJa>.suu@~~uuL.@rom~? 

(A) @~ru QJ@)UY 

(B) JI>rrm.sm.b QJ@)UY 

(C) &i[b~rrt.b 6l.l@)UY 

(D) @mi:orrt.b 6l.J@)UY 

133. Village account No 24 deals with 

(A) Annual rainfall details 

(B) Birth and death details 

~ Annual mines register 

(D) Cattles register 

~IJ"rrL08i.S6Mr8i® 6TGWr 24 6T~a>EMu ud>!6Jl1J~? 

(A) QJ(§LrrJii~IJ" LDGf>W8>.s6Mr8>® 

(B) tS'lJDuy LD!i>!J)Jt.b @i:ouy ®!6Juy.sro 

(C) .S~LO QJGITP>Q"l~ U~ll..jt.b ~6Wf@u u~a6U@ 

(D) .srrruJI>Gf>L.S6fr u~aQJ@ 

134. The annual average rainfall to Tamilnadu is 
fa) 979mm · 

(B) 969 mm 

(C) 989 mm 

(D) 999 mm 

~uSlwJI>rrL.ll:J-ru ~® ~6WT"ll:J-m a:grra:rTl LOQ">WllJGrrGtl 

(A) 979 uS1.iD. 

(B) 969 uS1.iD. 

(C) 989 uS1.iD. 

(D) 999 uS1.iD. 

GT714 48 x 



135. A village statistical register should be prepared once in 

(A) Every year 

(B) 2 years 

(C) 5 years 

J»1 10 years 

$l!Jrn.O yffiffil GlSlru!Juu~GGU@ fJiUJrrrll.SffiUUL Gru~nq .. UJ~ 

(A) tllGi.JQGUrr® ~~@Lb 

(B) @TJOOLrr~@ffi(.5.S@j ~®QPQ)!D . 

. (C) mfe>fbrr~@.s(.5.S@.i ~®0PQ)!D 

(D) LIPitJirr~@.s(.58;@5 tll®0PQ)!D 

· 136. The Maximum period for granting lease of lands is (as per the RSO 24A) 

(A) 

J0' 
5 years 

3 years 

(B) 4 years 

(D) 2 years 

RSO 24(A) - uiq. ~fJBf .@ruri.Jffi6'>ITT ®Pifhm.s GlSl@GUfJirD@.irflUJ ~~6iuL..a=Bi .srrru~m~ 

(A) 5 ~~@ffiffi (B) 4 ~oo@a;m 

(C) 3 ~~@a;ffi (D) 2 ~oo@6i6Tr 

137. Which one of the following is/are TRUE? 

I. Deserted women certificate shall be issued by Tahsildar. 

II. Other Backward class certificate shall be issued by Revenue Divisional Officer. 

x 

III. Inter-Caste marriage certificate shall be issued by Tahsildar. 

~ I and III (B) I only 

(C) II only (D) III only 

£w.s~L6UrDWJffi f;f~j f;fQ'l~ a=rllUJl'r~6J>QJ? 

I. B;Em6UTJIT6'> Q'l.SGlSJLUULLQJIT a=rr6Mw 6ULLITL61UJTJIT"1> QJ~ri.J.suu@$l!D~· 

IL @fJiTJ t5lii:>u@~fJiuuL..L GU@.iut5l~Q!i8i8irr~ a=rr6M[l;ll 6l.JQ!)QJITuJ G8irrL..LrrL..61UJ1Jrrru GU~ri.J.suu@$l!D~· 

III. s;ruuy~ ~®LDEm a=rr~[l;ll GUL..LrrL..61UJTJrr6'> GU~ri.Ja;uu@$l!D~· 

(A) I LD!DWJt.b III (B) I tDL..@t.b 

(C) II wL..@t.b (D) III wL..@t.O 

49 
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138. Which number comes opposite to 2? 

(A) 3 

(C) 4 

(A) 3 

(C) 4 

139. Which number is seen in all the diagrams? 

6 

(A) 3 

,J¢J 4 

6 

(A) 3 

(C) 4 

GT714 50 

(B) 6 

~ 5 

(B) 6 

~ 5 

(B) 7 

(D) 8 

(B) 7 

(D) 8 

8 



140. A number when divided by 2, 3, 4, 5 and 6 leaves remainder 1, 2, 3, 4 and 5, it is divisible 
by 7, then the least possible number is· 

(A) · 117 ~ 119 

(C) 113 (D) 121 

~® 6T~~rr~~ 2, 3.1 4, 5 L.O.tiJ!PJt.b 6 6T®Jt.b 6T~.sG1Trr6b 6l.l@i.$®t.b Gurr~ i.D~ (!:PQ)!DGlLI 
1, 2, 3, 4 L.O.tiJroit.D s. GL.O@)Jt.b ~6i..JG6l.l~ 7-~@)Jt.b 61.J®u@t.D 6T60T'lm ~ibfb i.Dif§lw 6T~ 

(A) 117 (B) 119 

(C) 113 (D) 121 

141. Find the s um of all natural numbers. between 300 and 500 which are divisible by 11. 

(A) 7337 ~ 7227 

(C) 7447 (D) 7557 

300ffi®t.b 500-ffi®t.b @Q)LGtLill..JmGIT ll~ru ru®u@t.b ~Q)~~~ @tLIGb 6T~.sml6bl 8fl.L...@uuru6UT .srr~s;. 

(A) 7337 (B) 7227 
(C) 7447 (D) 7557 

142. A man saves t 3,000 per month from his total salary oft 20,000. The percentage of his 
saVl.Ilgs is 

(A) 5% (B) 10% 

JfZ5 15% (D) 20% 

l.OrT~ 6l.lQ!)l.OrT6nt.b t 20,000 Guroit.D p>uir ~(!961.lrT ~6i..JG6l.HTQ!) L.OrTfbQPLD t 3,000re Ga:uS1uy Qa:tLi.$16UT!!)JTrT 
6T60T'lm ~61.J®Q')LlLJ L.Orrfbif Gs:uS1uy a:~65~t.D 

(A) 5% 

(C) 15% 

(B) 10% 

(D) 20% 

143. A seller says the cost of an item at a profit of 3%. Then he gives a discount of 3%. Then he' 
sells the item at 

(A) a profit of 0.09% v{B) a loss of 0.09% 

(C) a profit of 9% (D) no loss or ·no profit 

V>@6l.l6Ur ~® Qurr@Q)GTT 3% @rurrut.b Q)6l.l~~ GlSlQ)ru Gs:rr6b.$16bT!!)JTQr. i.5l6Ury 3% fb6i"r~u~ ~6!Tl8;.$16bT!!)rTQr 
6T60T'lru ~61.JQr ~uQurr®Q)GIT GlSl.tiJu~ 

(A) 0.09% @rorru~~!D® (B) 0.09%@wui.sl!i>® 

(C) 9% @rorru~~!D® (D) . @rurruQPt.b@ruQ)ro ~ruro~ @wuyt.b@6\>Q)ru 
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144. If the ratio of the ages of son and father in 2014 and 2022 are 1 : 4 and 3 : 8 respectively, 

then the sum of the ages of son and father in 2010 is 

fi 42 (B) 43 

(C) 50 (D) 45 

2014 LDrD!J)JLD 2022L.O ~Eim"® L.Da;~ LDrD!J)JLD ~JBQ)~ ~ffilGlLirrrT1~ Gl.JlLI~a;ffi)~ GlSlffil~r&.ia;ffi QPQ)!!)GlLI 1 : 4 

LD!D!PJL.O 3 : 8 Gr~ru 2010 ~Lb ~6Wr@ L.Ds;~ LDrD!PJLD ~friQ)~ ~ffilGlLirrrT1~ rulU~e;ffil~ en@~ru 

(A) 42 

(C) 50 

(B) 43 

(D) 45 

145. Find the volume of a largest sphere inscribed from the right circular cylindrical wood whose 

radius is 1 c.m. and height is 5 c.m. 

4 
""--tr cm3 

3 
(B) 5 ' 3 

-1'C cm 
16 

(C) (D) Btr cm3 

1 Qe:.i.D. ~IJQPLO, 5 Ge:.i.D. !!1....lLIIJQPLO Qa;rr6WJ"L CJD!T 2-(!!)Q)mu51Gi.l @@fri~ GruL..tq.. Gr@$e;uuL..L 

i.6le;uQurTllLI Ca;rrm~~~ a;m~m61.j a;rr~a;. 

4 
-tr cm3 

3 
(B) 

5 
-1'l cm3 

16 
(A) 

(C) 51'l cm3 (D) 81'l cm3 

146. The average of five numbers is 20. If we eliminate one number from it, the average will be 

reduced by 5. What is the number eliminated? 

(A) 5 

(C) 20 

JB) 40 

(D) 15 

5 Gr~a;GTfl~ e:rrrre:rTI 20. ~~Gi.l @®fei~ ~® Gf~Q)Ei!ITT ffi$ffil~rrrar e:1Jrre:rT1uSlru 5 ®Q)wffilw~ Gr~ru. 

,ffid;a;uuL..L GT~Q)E1ITT$ a;rr~a;. 

(A) 5 

(C) 20 

GT714 
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(B) 40 

(D) 15 
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147. (2° + 4-1 ) x 22 is equal to 

(A) 2 

(C) 4 

(2° + 4-1)x22 = 

(A) 2 

(C) 4 

148. If x=J2-J3 then J2 is 

(A) ~(x+~) 

(C) ~(~ -x) 

x=J2-J3 6T~ro J2 6Tmu§J 

(A) ~(x+ ~) 

(C) ~(~ -x) . 

~ 5 
(D) 3 

(B) 5 

(D) 3 

A ) ~(x- ~) 
(D) 

1 x--x 

(B) ~(x- ~) 
(D) 

1 x--x 

149. Babu has 540 cakes. He wants to distribute them equally to some persons. If the number of 

cakes given to each person is equal to 15% of the number of persons, find the number of 

cakes given to each person. 

(A) 60 

..Y1 9 

(B) 20 

(D) 54 

urry 6Tmu6l.Jrflub 540 Ga;S;®a;ffi tt.GTHi'IT6UT. ~61.Jl'r ~Q'l~.9= 6LDLDrra; filru p;ul'ra;~B;®u t.Slrfl~§J.$ Qa;rr@S;a; 

6!Sl@i.Dy..tlmwrrrr. ~GiJG6UrrQ96U®8i®tb Qa;rr@~~ ~a;8i®a;mlm 6TQRrr~8;ma;UJrrm~ GLDrr~~ p;ul'ra;mlm 

6TQRrr6imfl8;Q')a;uSlm 15% ~®Li:> 6T~ru ~Gi.JQ6l.Jrr® p;u(!98i®tb Ga;rr@8ia;uul..L ~a;8i®a;Grtlm 

6TQRrr~.$Q')c$Q')UJ8; c$1TQArr. 

(A) 60 

(C) 9 

53 

(B) 20 

(D) 54 
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150. Seasonal changes are caused due to the following reasons. 

(A) Earth revolves round the sun in an orbital path 

(B) Earth ·revolves round the sun as it rotates itself 

~ Earth is tilted 23Y:z 0 revolves round the sun 

(D) Earth takes 365 }{ days to complete revolution around the sun 

LIQ?6\.Ja;rrru tnrr!D!!Jrliia;Gir L5lm6l.J@L.0 a;rrlJ~~~mrrru 'V!Du@.$1m!!Jm. 

(A) LJ'"9UJrrm~ ®rflUJmm ,©Gir6\.JLLu urrmfht6lru a;rt>!J5l 6\.J@QJ!hrrru 

(B) LJ'"9UJrr6M~ !hmmm~ fhrTGm a;!D!J518; Qa;rr6liGT@ ®rTlUJmmll..jl.O a;!D!J51 6\.J@QJ!hrrru 

(C) Lj61SlUJrrm~ 23Y:z 0 a:rru'..JQ.Jrra; ®rTlUJQ)Gm" a;!D!J5l 6\.J@QJfhrTru 

(D) LJ'"9 ®rflUJ6'5'lm8: a;Ji.>!!516\..llJ 365 ,;{ !DrrL._a;ffi 61"@~~.$ Qa;rr<OTT6l.lfhrrru 

151. Choose the correct answer. 

Horizontal movement of sea water at the Ocean's surface is 

(A) Waves (B) Tides 

J9' Currents (D) Either waves or currents 

a:rTlUJrrm 61SlmL6'5'>UJ~ Gfbr'rfeG~@.$a;~L.O. 

Gu@rlila;Lrua;GTflm GLD!i>u1Jut5lru .$1mLUJrra; !Da;®.$1m!!J a;Lruffirr 

(A) ~mQ)a;ffi (B) ~fhr&ia;ffi 

(C) ,lliG1JrTLLffiia;ffi (D) ~6'5'>Q)a;ffi ~Q)Q)~ .ffiGIJrrLLffila;ffi 

152. The technique that reduce the amount of water consumption in crop cultivation 

(A) Hydroponics (B) Automated Irrigation 

(C) Macro Irrigation Jlf> Micro Irrigation 

(A) 6'5'l~LG1JrrGurr6ull.$w 

(C) GurflUJm'"9Q)rrm .ffirrurr6Ql'Lb 
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(B) fhrT~UJffil@)Lb ~rTUrT6Ql'Lb 

(D) .!fl!J5ltUm'"9Q)rrm )tr'rurra:EiMLb 



153. Choose the correct answer. 

Problems for environmental pollution is 

I. Rapidly growing population 

II. Industrialization 

III. Land pollution 

IV. Water pollution 

~ I and II are correct 

(C) III only correct 

.g:1fhurr~ QJrr8;$lUJ~65>)2i C)2il'rfeG)2i@. 

arwwa=@5wro L.Drrar8;.srr~ L5ll)68'65>~ 

r. ~~C6U.sLDrrQT LD8;.sm GPJrr~.s 6UtOTTrr6fil 

IL Q~rr~roLDUJLDrr~ro 

III. .IBJQ)Lb LDrT8'65>L)2iQl 

IV. ffirr LDrr8'~L~ru 

(A) I, II .g:rfl 

(C) III LDL.@Lb .g:rfl 

154. The infectious stage of Plasmodium is 

~ Sporozoite 

(C) Schizont 

L5ltOTTrrGiuCLDrrLq-UJ~~~ CJDmi.J Q~rr!Dwlb .IBJ~Q) 

(A) GiuCurrCJJrrar6Urrt6lL. 

(C) ~8'8'rr6Wr@ 

155. Haemoglobulin is made up of 

(A) Manganese and Chlorine 

(C) Iodine and Protein 

~CLDrr®Cmm . ..jrol~ £w8;.s~L6UW!!)rTQl ~~~ 

(B) II only correct 

(D) IV only correct 

(B) II LDL@Lb .g:rfl 

(D) IV LDL@Lb .g:rfl 

(B) Merozoite 

(D) Trophozoite 

(B) tEC11rrarQmt6lL... 

(D) Lq-C11rrCurrar6Urrt6lL... 

(B) Iron and Iodine 

JJ'Yf' Iron and Protein 

(A) LDrrffil.s~ar 1D!D£P1Lb @>C6rrmflm (B) @®Lill.I 1D!f>£P1Lb ~CturrLq-~ 

(C) ~ClUrTLq-Ql LDW£Pf LD Ljl)~LD (D) @(!!>LDL.j 1DfD£Pf LD Ljl)~LD 
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156. Consider the·following statement. 

I. Gr~phite is a good conductor of electricity 

II. Diamond is very hard and has high melting point and boiling point 

III. Splid carbon monoxide is known as dry ice 

IV. Carbonic acid turns red litmus slightly blue 

Which of the above statement is/are correct? 

(A) I and III are correct (B) II and III are correct 

· J9f I and II are correct (D) III and JV are correct 

BiwB>~L ~6J!!)J8>6a">GTT ~uJ.ffi§J ~§J/~6a">QJ a=ifl ~6l!T G6irr@Bie;uul...@6TTGTT ®JfilUL.j6iGlr e!:Jl6ULD a~r'r.ffiG~@. 

I. .i"ll)rT6a">UL JD~@) t..6l~6fTl)~6"5>~ B>L~~LD. 

II. Q">QJ l)LD t..6l B>61.J Lb B>LttWLO rr6l!T §J . c:191 ~ e; ~®®JBl Q) 6ll LO 6J gJJ Lb Q e; rr ~ JB1 Q">Q> Q e; rr OOL§J . 

III. ~~LO e;rrfru~ aLOrr6l!Trr8iGIDGTU@ ~6\)rT u~$6iLllt ~~!Da>~d;e;uu@tb. 

IV. e;rrr'rurr~6; c:191t..6lrutb §lQJul...j 6'51l...LO~ ~rrQ>GTT ~ru JBl!DLOrTB> LOrT!f>!!)Jtb. 

(A) I LO!iJ!!)Jtb III a=il!UJfT6llTQ)QJ (B) II LO!iJgJJtb III a=il!UJfT6l!Ta'lQJ 

(C) I LOrD!!)JLD II a=rflUJfT6llTQ)QJ (D) III LOrDgJJLD IV a:rflUJfT6llTQ)QJ 

157. Which one of the following is correct example for isobars? 

(A) 11Cl35, i1Cl37 ~ isAr40, 20Ca40 

(A) 11Cl3s, 11Cl37 

(C) iH1, iH2 

(B) isAr4o, 20Ca4o 

(D) sC13, 1N14 

158. pH values of 0.01 M HCl and 0.01 M Na OH solutions are 

(A) 2 and 7 ~ 2 and 12 

(C) 13 and 1 (D) 3 and 11 

0.01 M HCl B>a>l)a:ro LO!i>wtb 0.01 M NaOH B>Ga'>l)a=ru ~lluul...@6lrrom. @QJ!i>Jtil~ pH LO~UL.j8>6lr 

QPa'l!DaUJ 

(A) 2 LOrD!!)JLD 7 

(C) 13 LOrDgJJLD 1 
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I. 

159. Consider the following : 
Assertion (A) A planetarium is the universe brought in doors. 

Reason (R) A large band of · stars, gas and dust particles held together by 
gravitational force is called Nebula. 

(A) Both A and R are true, R is the correct explanation of A ·- ~ ----
vfJ5) A is true, R is· false 

(C) A is false, R is true 

(D) Both A and R are true, R is not the correct explanation of A 

£~8;a;.L 6l.Jrr8;$1UJffi.Jffi6J>GTT8; ffi6l.J~ : 

8'1.fi:>JJ)l (A) ~·L~66lfli P--m ~'lr6Ja;~~ro ~6J>L.Duu66lfli Ga;rrm ~'lr6.ia;i.D 6Hi~r$1Gwrri.D. 

p__~6J>L.D (R) r-Firuurr!f>wQ)rrro Vl~W Gs:rr8;a;uuL.L 6Urrll.J5a;Gr>mll.Jtb, 4@~~ ~a;ma;wmll.Jtb 

Qa;rr6WTL Gr6MHilllIT!f>!D 6iSl~t.O~a;ffil6M Q~rr@jUGr>U Q,11>461)rr Gr~.$lG!DrrtD. 

(A) A L.Dfi:>!!)ltb R s:rrl, A-~ ~6WT66>LDUJrrm 6iSlm8;a;tb R qt,@jtb. 

(B) A a:rr1, R fliGllJJ)l 

(C) A )'1)6UJJ)l, R s:rr1 

(D) A L.Dfi:>JJ)ltb R s:ill, A-~ p__6WTQ)L.DUJrrm 6iSlm8;a;tb R ~roru. 

160. Consider the following statements about planets and choose the correct ones. 

x. 

I. The planet which has maximum no. of satellite -Earth. 

II. The superior planets are - Mars, Jupiter, Saturn. 

III. The planets with maximum Albedo - Mercury, Venus. 

IV. The planet which is close to the Sun - Mercury. 

(A) · I, II and III only (B) II, III and IV only 

(C) I, II, III and IV JP" II and IV only 

aa;rrma;GJ>GTTU 'u!f>!)51UJ 8i1.!f>JJ)l.$a;6J>QT ~u'.Ja;. 

@6U !f> p)l 6iT Gr GJ> 61.J s:rr1 UJ rrm Gr>Gl.J ? 

I. ~~a; Gr6WT~8;GJ>a; Qa;rr6WTL ~66>6lllrr8;Ga;rrma;Gir ~66>LUJ aa;rrm - 1::j,u5l 

II. Gs:u'.J66>L.DuS1ro p__mm G.srrm - Qa:QJ6l.Jrru'.J, 6iSIUJrr~6M. s:~ 

III. ~~a; ~roQuGLrr LD~u4mm aa;rrma;Gir- 4fb6M. Q6lJ6irffil 

IV. @;ITlUJ@8;® ~@.slro 2...mG1T Ga;rrm - y~Qi-

(A) I, II LD!f>JJ)ltb III L.DL.@tb (B) II, III L.D!f>JJ)ltb IV LDL.@tb 

(D) II LDWJJ)llD IV LDL@tD 
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161. Every bank has to keep certain min"imum cash balance with RBI is called 

(A) Variable Reserve Ratio 

~ Cash Reserve Ratio 

(C) Cash Discount Ratio 

(D) Trade Discount Ratio 

.@.IB~lU rf1a=irQi 6l..Jr6.J.ilu5lLtb ~QJQ6l..JIT(!!) 6l..Jffi.J.illl..jtb 9® ®!DJuL51l....L Q~rr~e;~lU Ql]"rr<'iie; .@(!!)UU IT85 ~6l..JUU~ 

(A) LD!Tg)JU@tb e;rruy@Sl.il~tb 

(B) G1Jrr8ie; .@®uy @Sl.il~tb 

(C) G1Jrr8ie; ~Gir~u1.q-@Sl.il~tb 

(D) @SllUITUITIJ~ ~Qr~Ulq- @Sl$l~tb 

162. Match : 

(a) First Five Year Plan 1. Eradication of poverty 

(b) Second Five Y eai: Plan 2. Equality and Social Justice 

(c) Fifth Five Year Plan 3. Industrial Development 
• 

(d) Tenth Five Year Plan 4. Agriculture 

(a) (b) (c) (d) 

$> 4 3 1 2 

(B) 2 1 3 4 

(C) 1 3 4 2 

(D) 2 4 1 3 

Gurr®~~e; : 

(a)· QP~rorrtb a:i.IB~rr~@ ~LLtD 1. 6l..lg)J~LD ~~uy 

(b) .@IJ~LrrtD a3.IB~rr6li6r@ ~LLtD 2. 5LD~~6l..ltD LD{.bg)JtD 5@85Jb~ 

(c) ffi.IB~rrtb m.IB~rr6li6r@ %JLLtD 3. G~rr~f]~~!D 6l..JGTTir8:6l 

(d) u~~rrtb ~~rr6li6r@ ~LLtD 4. G6l..lmrr6li6r~ LD 

(a) (b) (c) (d) 

(A) 4 3 1 2 

(B) 2 1 3 4 

(C) 1 3 4 2 

(D) 2 4 1 3 
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163. Which is the Public Sector Industry? 

$y BHEL 

(B) Reliance 

(C) TATA 

(D) Ashok Leyland 

£~a;rr~u6m'rud>roim 6f~ Qurr~~~~!D fBlroiru~t.D? 

(A) Quru (BHEL) 

(B) 016a'lruUJ~ffil (Reliance) 

( C) LITLIT (TAT A) 

(D) ~~c!Frr8; ~ru~ru~L... (Ashok Leyland) 

164. Match the following : 

(a) Saakshar Bharat 

(b) Rashtriya Madhyamic 
Shiksha Abhiyan (Il:MSA) 

(c) Sarva Shiksha Abhiyan (SSA) 

(d) Indian Institute of Technology 

(a) (b) (c) (d) 

~ 4 1 2 3 
(B) 1 4 3 2 

(C) 4 2 1 3 
(D) 4 3 1 2 

Qurr@~~a;: 

(a) ~m 8'G!!f fr LI ITIJ ~ 

(b) IJIT~LfilUJ LD~UJt.618; 

618'G!!f ~i.S1UJrr6Ur (RMSA) 

(c) c!Frrru 61B;G!!f ~i.S1UJrr6Ur (SSA) 

(d) @.[i;~UJ Q~rr~roIDJLU ,!Bl.Q)l6'U6m'LD 

(a) (b) (c) (d) 

(A) 4 1 2 3 

(B) 1 4 3 2 

(C) 4 2 1 3 

(D) 4 3 1 2 

x. 59 
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4. 

1. 

2. 

3. 

4. 

• 

secondary education 

elementary education 

higher education 

female literacy 

@~LfBl~ru8; a;Q)G\Sl 

Q~rrL8;a;8; a;Q)G\Sl 

!LUJ n-a;ru 6\Sl 

Qu~a;bi.>6\Sl 
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165. The cell division results in four daughter cells each having half the number of chromos.omes 

of the parent cell and are called gametes. This type of cell division is 

(A) mitosis 

(B) amitosis 

~ meiosis 

(D) karyokinesis 

(A) Q'>LDLLrrfiloo 

166. Zero hour is the innovation in the parliamentary procedure of 

(A) UK 

(B) USA 

Jflf' India 

(D) France 

(C) @Ji>!bllllrr 
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167. Article associated with providing reservation of seats for SC/ST in Panchayat elections 

(A) Art. 243 K 

(B) Art. 241 K 

JeJ Art. 243 D 

(D) Art. 241 D 

(A) Art. 243 K 

(B) Art. 241 K 

(C) Art. 243 D 

(D) Art. 241 D 

168. Select the incorrect pair regarding Sahitya Academy Award 2013: 

(A) Javed Akhtar - Poet 

(B) Mridula Garg - Novelist 

~ Subodh Sarkar - Essay 

(D) M.N. Paloor - Short Stories 

(B) L.6lrr~Q)rr 6;rrrr6i- !JirT6tl6i> 
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169. Who is Swaraj Paul? 

Jlt.) Indian Industrialist based in United Kingdom 

(B) Leader in Share Market 

(C) Indian Cabinet Minister 

(D) Chairperson of ISRO 

~IJ'IT~ urrro 6T'~U6l.JIT UJrrir? 

(A) @rf.i.$1Q>rr,llif)6U @®Bi®t.0 @~f)UJ Q~rrWlb\>fhluir 

(B) Urlil@j 8'~GID~u5l~ ~Gmb\>QJIT 
• 

(C) @,[i>fhlUJ Birrt.9l~L. ~roLD6e:rr 

(D) @60.JGl}'rr@Sl~ ~rob\>6l.lrr 

170. The use of 'i knife' in the medical field is 

(A) to detect the heart disease 

(B) to detect the volume of blood 

~ to detect the cancer 

(D) to estimate the amount of sugar in blood 

LD®~~QJ ~m!Du5lQ.> 'i ffi~fhJu5l~· uUJ~urr@ 

(A) @®~UJ GJ!>ITGIDUJ.$ 8i6iia'r@t.9ltq.8;a; 

(B) @'l~~~f)~ a;6N ~roQ'l6l.l Bi6iia'r@t.9l iq..$a; 

(C) GBi~a:ir Gp;rrGIDUJ.$ Bi6iia'r@t.9liq.Bia; 

(D) @'l~~~fhl@.J~ro a:ir.$a;Q')IJ'u5l~ ~roQ'lQJ a;6iia'r@t.9liq.ffia; 

171. Who was the first cinematographer to be chosen for Dada Saheb Phalke award? 

(A) Sriram 

(B) Kaman 

~ V.K. Moorthy 

(D) Balakrishnan 

fblTtJ)IT a:rr.ilu urrGbGa; @Sl®~a;® Gfbir.lliGfb@.$s;uuL.L @~Gb ~mtuufhl6l.lrrroir UJrrrr? 

(A) ~IJ'ITLD 

(B) a;ir~~ 

(C) V.K. &ir~f,51 

(D) urrb\>.il@~~~ 
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172. In which Indian State, Government of India planned to build world's largest 4000 MV Solar 

Project? 

(A) Gujarat 

v<6 Rajasthan 

(C) Haryana 

(D) Punjab 

.@.llifhllLI ~IJ"BT, .@~fbllLirr~m Q"~~ LDrrJblQ)~~ru ~Q)B;~~~Q)~lLI QurftLLJ 4000 MV <§illlLI 66;~ uSlmJb]Q'lroLLJLb 

~Q)U)6;B; .@®6;.$1,!D~? 

(A) C§~IJ"rr~ 

(B) IJ"rr~GTI.l~rrm 

(C) ~rftlLJrr~rr 

(D) u(§B=rru 

173. The status of Election Commissioner is equivalent to that of the 

(A) High Court Judge 

J9( Supreme Court Judge 

(A) ~lLirr ,ffi~LDm!D .ffi~u~ 

(C) ~ifB= _ffi~LDmJD .ffi~u~ 

(B) District Court Judge 

(D) Magistrate 

(B) LDrT6ULL .ffi~u~ 

(D) LDrT~W~f)L 

174. Tamil Nadu Legislative consists of------ members. 

(A) 233 

JRJ' ·235 

(A) 233 

(C) 23·5 

x 
, 
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(B) 234 

(D) 236 

(B) 234 

(D) 236 
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175 . . Match ihe following: 

(a) Right to equality 1. Art. 23 - Art. 24 

(b) Right to freedom 2. Ari. 19 -Art. 22 

(c) Right against exploitation 3. Art. 25 - Art. 28 

(d) Right to freedom of religion 4. Art. 14 -Art. 18 

(a) (b) (c) (d) 

~ 4 2 1 3 

(B) 4 2 3 1 

(C) 1 2 3 4 

(D) 4 3 2 1 

Qurr®~~a;: 

(a) 8'1..D ~~ 6ll 2-rfl 6r> LO 1. i.5lrtl61.j 23 - i.5lrtl61.j 24 

(b) BT~,!!i~IJ ~rfl6r>LD 2. i.5lrtl61.j 19 - i.5lrtl61.j 22 

(c) BTl}~L~d;Qa;~IJITEl!T :l2....rfl6r>LO 3. i.5lrtl61.j 25 - i.5lrfl61.j 28 

(d) 61..0lLI 8T~.ffi~'l 2-rfl6r>L.O 4. i.5lrtl61.j 14 - i.5lrtl61.j 18 

(a) (b) (c) (d) 

(A) 4 2 1 3 

(B) 4 2 3 1 

(C) 1 2 3 4 

(D) 4 3 2 .1 

176. Which Article permits Separate Constitution for the state of Jammu-Kashmir? 

v<t> Article-370 

(C) Article-161 

(A) 

(C) 

GT714 
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(B) Article-390 

(D) Article-356 

(B) GlSl~ 390 

(D) GlSl~ 356 



177. Bengal was revoked in the year of 

(A) 1905 (B) 1907 

(C) 1909 ~ 1911 

GVffi.Je;rrGITLD W6lilrrG\Lil @~~8;e;uuL.L ~6Wr@ 

(A) 1905 (B) 1907 

(C) 1909 (D) 1911 

-178. Consider the following statement: 

x. 

Assertion (A) : The congress leaders in the early stage were called Moderates. 

Reason (R) : Moderates advocated GJ. radical way to win their demand. 

Now select your answer according to the coding scheme given below : 

(A) Both (A) and (R) are true and (R) is the correct explanation of (A) 

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A) 

$) (A) is true but (R) is false 

(D) (A) is false but (R) is true 

: .@}i>~lLJ ~~filUJ e;rrffi.J~gGiu ~~ru6Vfre;6Tr ~l}"LDU a;rrru ffiLL~~Q) uSl~6Vrr~a;6Tr 6T~£91 

~ ~ wffie;u u L.L6lSlfr. 

-~ffilLJ fT~L6lSTfr. 

(A) (A) LDW£91LD (R) .@g~@L.D d'ITl. (R) 6T~U~ (A)-66l!D® a:ITll1JfT6lST ~GIT8;e;L.0 

(B) (A) LDW£91Lil (R) .@g6Wr@L.D d'ITl ~LD@!Lil (R) 6T~u~ (A)-66l!b® 8'ITl11Jrr6lST 661G1Tffie;uSlroQ'lru 

(C) (A) a:ITl ~6lSTrrro (R) ~6V£91 

(D) (A) ~6V£91 ~mrrro (R) a:ITl 
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179. Match the following : 

List I List II 

(a) Sardar Vallabhbai Patel 1. First Governor General of India 

(b) Dr.B.R.Am.bedkar 2. Bismarck of India 

(c) Lord Mountbatten 3. Swarajya Party 

(d) Motilal Nehru 4. Drafting Committee of Constituent Assembly 

(a) (b) (c) (d) 

~ 2 4 1 3 

(B) 1 2 3 4 

(C) 4 3 2 1 

(D) 3 2 1 4 

Gh:.irr@~§Ja;: 

uLiq.UJru I uLtq.UJru II, 

(a) <'J'ITpllTIT QJQlQ)UITuJ uaLru 1. .@_!j;~UJrr6lSlm C:Jlfb6u a;QJrrmrr Q~mJJru 

(b) Dr. B.R. ~Lbau~a;rrrr 2. .@_!j;~UJ i.Slwtnrrrr.$ 

(c) LD6l..jG11b1LauL.._Lm i.Sl1J4 3. 8TUJl)IT~UJ a;L.._~ 

(d) atnrr~rurrru ap;® 4. ~l)~UJQ} ~Q)LDLJ4 6lSlGW>l)6l..jc$ @)@ 

(a) (b) (c) (d) 

(A) 2 4 1 3 

(B) 1 2 3 4 

(C) 4 3 2 1 

(D) 3 2 1 4 
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180. After Jallian Wala Bagh massacre Rabindranath Tagore renounced his title 

181. 

(A) Leadership 

(C) Knighthood 

(A) )2jQ)6U6l..JIT 

JP( Q"lJ!jL64L 

(B) Lordship 

(D) Kingship 

(B) tSll}l . ..j 

(D) ~ga=rr 

Which one of the following is correctly matched? 

I. W.C. Banerjee Swadeshi Mithran 

II. G. Subramaniya Iyer The Hindu 

III. Lala Lajpathi Roy Ke sari 

IV. Lakshmi N arasu Che tty Samachar Darpan 

(A) I vef> II 

(C) III (D) IV 

I. LtSlffi~.$1. UfTQTIT~ q,(2~6 uSl~I)~ 

II. ~- 8iLil)LD~lU ~uJlUIT '~@jb~' 

III. ~fT6l)fT 6U85U~ l)fTuJ Ga;a:ITl 

IV. ruL.8iuSl J!ill8i Ga=L.~ a=torr5a=rrrr ~iru~ 

(A) I (B) II 

(C) III (D) IV 

67 
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182. Which among the following is correctly matched? 

v& Lion of.Punjab Lala Lajpat Rai 

(B) Frontier Gandhi Muslim League 

(C) Sardar Vallabai Patel First Governor general 

(D) Motilal Nehru Bismarck of India 

183. Arrange the following period in chronological order : 

I. 

II. 

III. 

IV. 

JN 
(C) 

I. 

II. 

III. 

IV. 

(A) 

(C) 

GT714 

Chauri Chaura Incident. 

Non-Cooperation movement. 

Quit India movement. 

Dandi March 

II, I, IV and III 

II, IV, I and III 

Ga:wrrl Ga:wl}"rr a:tbu6l.Jtb 

~~§f~WUJrr~LD .@UJ.$s;tb 

QQ.Jm~wUJG~ Q6l.JrolGUJJJ)J 

f1)6!iGTtq. UJ rr ~~ ~ IJ" 

II, I, IV LDrD!J)ltb III 

II, IV, I LDriJWJtb III 

68 

(B) III, IV, I and II 

(D) II, III, IV and I 

(B) · III, IV, I LDrDJJ)Jtb II 

(D) II, III, IV LDrDJJ)Jtb I 



184. Match the following A with B. 

A 

.(a) Surat Split 

(b) August Declaration 

(c) The Swaraja Party 

(d) Formation of Simon Commission 

(a) (b) (c) (d) 

(A) 1 4 2 3 

~ 4 3 2 1 

(C) 3 1 2 4 

(D) 2 4 1 3 

Qurr®~~a; : 'A' lLJL~ 'B' ffi· 

A 

(a) @W ~ t51 GTTQ.j 

(b) ~a;~L.... <::!91!DJ8;Q)B; 

(c) BjlLJ fJrT~ lLI 8; a;l....61 

(d) ~a:LD~ §IY~8i®@<::!91ml.D~~ru 

(a) (b) (c) (d) 

· (A) 1 4 2 3 

(B) 4 3 2 1 

(C) 3 1 2 4 

(D) 2 4 1 3 

1. 

2. 

3. 

4. 

1. 

2. 

3. 

4. 
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B 

1927 

1923 

1917 

1907 

.B 

1927 

1923 

1917 

1907 

GT714 
[Turn over 



185. The celebration of Ganapathi and Shivaji festivals was revived by 

(A) Gokhale 

(B) W.C. Banarjee 

JC) Tilak 

(D) Annie Besant 

(B) Lt.S1ro~. 61. urrmfr2§1 

(C) ~Q)B;fr 

186. The most important factor leading to the rise of national movement was 

fi Imperialism 

(B) Communism 

(C) Socialism 

(D) Mixed economy 

(B) 6LD~frLDLb 
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187. Match the List-I with List II correctly and select your answer using the codes given below: 

List I List II 

(a) Herald of New age in India 1. Swami Dyananda Saraswathy 

(b) Martin Luther of Hinduism 2. Annie Besant 

(c) New India 3. Ramakrishna Mission 

(d) Photovoltaic Lighting System 4. Rajaram Mohan Roy 

Codes: 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 2 3 4 1 

~ 4 1 2 3 

(D) 3 2 1 4 

uL.i.cru;Q.i - Im uL.i.cru;Q.i - II fLL~ Gurr®~~ £a~ Qs;rr@8;s;uul...@mm ®!!SluS'@s;~mB; Qs;rrQfor@ s:rllUJrr6"0T 

GlSl~L~UJ~ afiir'r}i;Q~@. 

(a) !f>~6"0l @Ji;~u;rrGlSl~ 6'61t.crGGUmml 

(b) @fe~ 8'LDUJPJ~~ LDfTrTLcr~ @)ITfilrT 

(d) <§rrlUJ ~GTfluSl~ ey:iQ)i.b t.61~s:rr1Ji.b ~wuP,~ 

Qs:ti.Jll...ji.b ~LLL.b 

®!!SluS'@s;ro : 

(a) 

(A) 1 

(B) 2 

(C) 4 

(D) 3 

(b) 

2 

3 

1 

2 

(c) 

3 

4 

2 

1 

(d) 

4 

1 

3 

4 
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188. Which of the following statement is not correct? 

(A) Mohenjadaro means mound of the Dead 

(B) Indus valley people used burnt brick!?· 

(C) Indus valley civilization was a rural one 

(D) Sir John Marshall is related to Indus valley civilization 

t5J ~QJ Q9 tD 8dl.!il ID! a;Glfl Q) ~QJ !J) IT6l!T ~ 'if~ ? 

(A) GLD1T~~a:~1TC1J1T ~~!D Ga:1Tru'@)J8;@) .@!DJb~6tlt'r CLO@ ~~ID! Gu1T@6Tr 

(B) 61JI>~ a:LOG6UG!ll L08;a;6Tr 8TLL Qa:ri.Ja;!Da;GDGJTU UUJ~U@fb~6l!Tfr 

fi 61 Jb~ 8'LD Q 6tJ Glfl ,{!)IT a; IT a; tD 9@ .$) f)ITt.61 UJ ,{!)IT .SIT a; tD 

(D) a:r'r ~IT~ LOITrT~GU 61JI>~ 8'LOG6tlG!ll ,(DIT.SIT.S~~U~T Q~ITLrTLf6r>LUJ6tlrT 

189. Which one of the following is/are correctly matched? 

I. VµIage Account No. 10(1) 

II. Village Account No. 20 

III. Village Account No. 11 

(A) I and III 

yr' I only 

I. 

II. 

III. .$l!JITLO a;~8;@) ~Glior 11 

(A) I LD!ilroJt.D III 

(C) I LOL@LD 

GT714 

Chitta showing the landholdings of each 

ryot with the assigned patta number 

Patta is a record showing landholdings of 

each ryot as assessment 

Rainfall statement 

(B) III only 

(D) U andI 

ULLIT6tJITillUJIT.s .ffilru6t1ill~ ~LL~~65)6l!T .s1T~t5l8;@)tb 

61LLIT6tJ IT@) t.D 

~Qru~ ~6i.JQ6tJIT® @>~UJIT6l!T6tJ@8;®t.0 ~ffil8;.suuL.L 

ULLIT 6tl~QJLOIT@)LD 
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190. Which one of the following is objectionable Poramboke? 

(A) Assessed dry waste 

-(B) Natham Poramboke 

(C) Graveyard Poramboke 

(D) Pattai Poramboke 

I 
Biw8;a;~L6U(DJDlQ.i 61"~ ~L.Ga:u65>6i!Mll..jffi61T yivt.OGurr.$®? I 

(A) ~ir~G"Ll ~(DULL ~rlla; 

(B) JD~~t.O yilJt.OGurr.$® 

fl LDturr~ y!J)t.i:>Gurr.$® 

(D) urrL.65>L y!J)t.i:>Gurr.$® 

191. As per the Tamil Nadu Land reforms (Fixation of Ceiling on Land) Act, 1961, ceiling is fixed 
for a family consisting of 5 members is 

(A) 5 Standard Acres 

~ 15 Standard Acres 

(C) 10 Standard Acres 

(D) 30 Standard Acres 

1961- t.0 ~~65>LlU fhuSl~JDIT® /filbOiF s1r~®~fh (/fil60 ~lFc!f6UIJ'tOY ifilir6Wrt6'1~~6U) c!fLL~~~ £w reJt~ JDUIT 

Ga;rr~L ~® ®®illu~~!D® t5l6b'r6U(!?LD ITWJ ~iFc!f6U IJ'tOY ~QPQS16U 2-ffi61T~. 

(A) 5 fhlJ' ~8;8;ir 

(B) 15 ~IJ' ~.$<'hir 

(C) 10 ff;IJ' ~.$<'hir ' 

(D) 30 fhl} ~8;a;ir 

192. The Descriptive Memoir of Revenue village is mentioned in---- - Registers. 

v,A) 'A' Register (B) 'B' Register 

(C) 'C' Register (D) 'D' Register 

(A) 'A' u~G6U@ 

(C) 'C' u~GGU@ 
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(B) 'B' u~G6U@ 

(D) 'D' u~G6U@ 
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193. In general, the Trees, Buildings and Governme~t poramboke lands are protected in the 

village by? 

~ Village Administrative Officer 

(B) Public Welfare Officer 

(C) Building Inspector 

(D) Panchayat Secretary 

Gurr~Gi.ma; .$lgrrLDffiia;"1ftru ~mm a;l....LirLffila;Gir, LDIJffila;Gir LDti>WJL.b <:!9l1J8i L!JDL.bGu rr.$@) .@ruffila;ffi GurrmJD 

~IJ8T8= G6rr~~a;Q"JQT urr~a;rr.$@)L.b <:!9l~a;mfl UJrrfr? 

(B) LD85a;Gir )!i61)UU~UJrrrofr 

(C) a;L....LirL ~U:..6Urrmfr 

194. In Tamil Nadu, m which year Revenue Administration name is renamed as Revenue 

Administration and Disaster Management and Mitigation Department? 

~ 2003 

(B) 2004 

(C) 2005 

(D) 2006 

~uSl~p;rrL....Lirru 6UQ?6UITuJ .@fr6Urra; ~mJDuSlm GuUJfr ~Ji;~ ~~© 6UQ?6UITuJ .@fr6Urra;L.b LDJDtp!L.b GufilLfr 

GLDrurr~Q"JLD LD!i>WJL.b ~~85@iL.b ~Q)JD ~mroi GuUJfr LDITJDJDL.b G6t.UUJuuL....L~? 

(A) 2003 

(B) 2004 

(C) 2005 

(D) 2006 
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195. A Fasli year commencing from and ending with? 

(A) January to December 

(B) October to September 

(C) April to March 

(D) July to June 

~® ue:GISl ~~@ ~n.Jaurr~ ~QJriu.$1 <0ruaurr~ QPt.q.6l.JmLll...Jtb? 

(A) ~m6l..lrll QP"ro li\-e:tbur'r QJ~IJ 

(B) ~a;aLrrur'r QP~ffi Qe:uLtbur'r 6l.lm1J 

(C) GJUIJro C:P"ro LOrrr'r.9: 6l.l~IJ 

~ ~"O~Q) QP,,@ ~"O~ 6l.l~IJ 

196. Match List I with List II and choose the correct one. 

List I-Village Accounts List II 

(a) Account No. 10(1) 1. Pattawise Chitta 

(b) Account No. 13 2. Daily Collection Account 
(c) Account No. 19 3. Birth and Death Account 

(d) Account No. 1 4. Monthly Cultivation Account 
......... 

(a) (b) (c) (d) 
(A) 1 2 3 4 
(B) 1 4 3 2 
(C) 1 3 2 4 

(D) 4 1 3 2 

LILlij.UJffi Im ULt.q.UJro II-~L~ Gurr@~~ e:rTlUJITQT6l.J!D~w a,,r'rQj Qe:ti..Ja;. 

uL...i.q.UJro I-il1JrrLO a;~B;®a;ro uL...i.q.UJro II 

(a) a;~.$® <OT~ 10 (1) 1. u LLITQJ rrrll 61 LLIT 

(b) a;~.$(§ GT~ 13 2. fh)me:fil QJ<§ffi a;~.$® 

(c) a;~.$® <OT~ 19 3. ~!J)Ulj LDWglltb .@!!JUL.j c$Q5T.$(§ 

(d) a;~.$® <OT~ 1 4. LOIT,,6l.JITrTl B'IT(§Ut.q. c$Q5T.$(§ 

v<i() 
(a) (b) (c) (d) 

1 2 3 4 · 

(B) 1 4 3 2 
(C) 1 3 2 4 

(D) 4 1 3 2 
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197. In viUage Accounts, Account Number 20 deals with which one of the fol1owing? 

(A) Population 

vm1 Rainfall 

(C) Epjdemic diseases 

(D) Cattle pounds 

(A) w8;e;ffi Gp;rrQ>e; 

(B) LD~~UJGITGl.I 

(C) Q~rr!Dw G.[!irrli.Je;ffi 

(D) e;rrw.[!i~LLiuL.1.q-e;ffi 

198. Which is the first state to introduce the Mass Contact Programme I Manu Neethi Thittam? 

(A) Gujarat 

vfl5)1 Tamil Nadu 

(C) Kerala • 

(D) Madhya Pradesh 

~~~ LDIT,!B)Q)~fi)Q> LDWJ.lli~ .[!irTffi ~LLLD QP~~QP~~w Qe;rr6WT@6l..llJUULL~? 

(A) ®~IJrr~ 

(B) ~uS1~.[!irr@ 

(C) Ge;IJmrr 

(D) LD~~UJutSll)G~a:tb 
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199. Brahmadayam means 

(A) The Inam given io Religious organisations 

(B) The Inam given to chatiram and education instit utions 

(C) The Inam given to former Palayakkars, Zamindars and their relatives, staff and legal 

heirs 

JP"- The Inam given to Brahmins and other religious persons for their personal use 

(C) Q;PQr~HTGir urr65lffi"UJ.Sa;rrlJ"r'ra;Gir, ~uSlQrp>rrr'ra;Gir ~.$1Gu_irr1Jt91 ~.(DGlSlGnr'r, ~~UJr'r, 6l.JrrITl8i~rTIJ"rT 

~.$1Gu_irr(!9.S@) 6l.J~r6.Ja;uu L.L@Gnrrt.0a;Gir 

200. Who is the authorit)'.' to the taken over the relinquishment of land? 

(A) Revenue Divisional Officer 

JB)'1 Tahsildar 

(C) Village Administrative Officer 

(D) Revenue Inspector 

(B) 6l.JLL rrL.5lu_ir'r 
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